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TrigonometryExercise for No.9395

4 8 6 X
Nol = (COS(A) = gj, No2 = (csc(A) = gj, No3 = (tan(A) = ;J, No4 = (cot(A) = E]
[ I=(y=cos(0)) 2=(y=—-4sin(0))

3=(y=cos(60)) |

Nos = 4=(y=4cos(30)) .5=[y:—§cos(66)] .6:(y:3cos(%j+l)

_.7:(y:—4cos(5n6)) 8= :—3cos p +2 TH
5 ( j 3 din(2 PR | M4

g y—2cos 3 y=-3sin(2tx)+ y=sin(x) + TH
TX MA MA
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TrigonometryExercise for No.9419

8 7 ) 2 X
Nol = (tan(A) = ;], No2 = (cot(A) = 5), No3 = (sm(A) = ;j, No4 = (csc(A) = 7]

A =(y=sin(0)) 2=(y=4cos(0)) 3=(y=cos(60))
1 0
Nos — 4=(y=-3sin(20)) .5=(y=—5sin(39)j .6:(y=6cos(gj+4j
R e
7= y= 3sm( n0)| .8§=|y=-2sin 3 TH |
3-(Mj4 é.(£j3 o, MA
s y=3sin 5 + y——251n 3 ) y=sin(x) — TH
0= 5 (nxj (xj MA MA
y=-_-cos| y=3cos| — —
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TrigonometryExercise for No.9428

Nol = (cos(A) = %j, No2 = (cot(A) %)’ No3 = (tan(4)=x), No4 = (csc(A) = 3]
A =(y=sin(0)) 2=(y=4cos(0)) J3=(y=cos(20))

4=(y=5co0s(40)) .5=(y:—%cos(5 G)J .6=(y=3sin(%}+5j

No5 =
r=lpegemsno) sl )]
] y 2cos( mo) y sin 5 TH |
g y= 2sm 5 y =—cos(x) y—2cos( X) TH
0= X (Mj P MA M4
y=3cos 3 ) y—251n( TX) TH TH
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TrigonometryExercise for No.9459

Nol =

Noj =

(sm(A)_zj No2 = (cSC(A)_S) No3 = (cos(4) =x), Nod = (sec(A):?]

| I=(y=cos(8)) 2= (y=4sin(0)) 3=(y=cos(40)) |

4=(y=5cos(29)) .52(}/2%(:05(59)} .6:@:2@{%}2}

.7=(y=—%sin(4n6)j .8:(y:—6c05(%6j_3j %
y=2005(nxj+4 y——SSm( J ye 2COS( j MA

No6 = 3 2 AYZ
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TrigonometryExercise for No.9476

Nol =|sin(4)==1|, No2=|cot(A)==7| No3=|tan(A) =", No4=| csc(A)=—"
7 3 6 X
i A =(y=sin(0)) 2=(y=—-6c0s(0)) J=(y=sin(30))
Nos = 4=(y=5co0s(20)) .5=(y=—2 cos(%D .6:(y:—§cos(2 6)—5J
1 no MA
.7:(y:—gcos(3n9)] .8:()/:—3 cos(—2 ]+2) _TH
) ) MA
y=2sin(2x) y=-sin(x)+1 y=-3cos(2x)+4 E
No6 = . (nxj 1 (nxj MA MA
y=3sin|—— |+3 y=—_cos| — —
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TrigonometryExercise for No.9491

5 7 4 X
Nol = (tan(A) = ;j, No2 = (sec(A) = Z]’ No3 = (COS(A) = ;j, No4 = (csc(A) = Zj

[ I=(y=cos(0)) 2=(y=4sin(0)) 3=(y=sin(40)) |
Nos = 4=(y=3sin(40)) .5:()/:4005(%D .6:(y:écos(46)—5j
1 (=0 A
_.7:(y:—5cos(6n9)) .8:( :_SCOS( 5 ]—3] TH
2 2 1 2 2 3 A
g y—2cos( X) y =cos(x) y= 2s1n( TX)+ TH
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TrigonometryExercise for No.9711

. 6 7 6 7
Nol = (sm(A) = ;j, No2 = (csc(A) = g], No3 = (COS(A) = ;j, No4 = (cot(A) = ;J

A =(y=sin(0)) 2=(y=-3cos(0)) 3=(y=cos(50))
No5 = A4=(y=-3cos(20)) '5:(3’:_%““(6 9)) -6=(y=—3 sin(g)+3)
. 1 no MA
7=(y=-3sm(4m0)) .8=(y:—§cos(Tj+3j T

5 . 5 4 5 (xJ 5 (Tcx] 5 MA
_= _ = _ = — -
y 2s1n( X) y sin 5 y 2cos 3 +

TH
No6 = , , 1 (HJ MA MA
y=-sin(x) — y= 5 cos 3 TH TH
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TrigonometryExercise for No.9784

Nol = (tan(A) = 2], No2 = (sec(A) = %j, No3 =(cos(A)=x), No4 = (cot(A) = %]
3=(y=cos(50)) |

[ 1=(y=cos(0)) 2=(y=-2sin(0))
Nos — 4=(y=-5sin(30)) = y=—%sin(29) 6= y=3sin[gJ—3j
1 . (mO MA
_.7:(y:—gsm(5n6)j .8:()/:—3 sm(Tj+4j E
1 H S B /7]
s y= 2cos 5 y=—sin(x) + y—2sm( TX) TH
5 3 MA MA
yzacos(2nx) y:—Ecos(2x)+2 E E
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TrigonometryExercise for No.10143

Nol = (sin(A) = gj, No2 = (cot(A) = ?j, No3 = (cos(A) = %J, No4 = (sec(A) = %J

A =(y=sin(0)) 2=(y=4cos(0)) J3=(y=sin(40))
Nos = 4=(y=—-4cos(50)) .5=(y=§cos(5 G)J .6=(y=3cos(%)+3j
1 T MA
.7:(y:—gcos(7jj S=(y=-3cos(2mO)+5) E

5 (TCXJ 4 5 (xj 5 3. (xj MA
= - =— + = - —
y= 5 cos y —2 cos h% 5 sin 5

3 3 TH
No6 = 9 s ( X j ) 3 MA MA
y=2sin 5 y=sin(x) — _TH _TH
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TrigonometryExercise for No.10359

. 4 7 X 4
Nol = (sm(A) = gj, No2 = (sec(A) = g], No3 = (COS(A) = ;j, No4 = (cot(A) = ;J
[ I=(y=sin(0)) 2=(y=-6cos(0)) 3=(y=cos(606)) |

NoS — 4=(y=3cos(40)) .5:(y=%sin(49)) .62(}/2—2005(%)—1)
1 (=0 MA
_.7:(y:—6cos(2n9)) .8:( :—4005( 3 J+3j TH
E-(ﬂjz z.(zj4 Siinnny MA
s y_231n 5 + y—2s1n 5 +4 y= 2sm( TX) TH
1 [z M4 M4
y=cos(x)—3 y= > cos(zj TH TH
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TrigonometryExercise for No.10626

7 6 X 5
Nol = (tan(A) = 5]’ No2 = (cot(A) = ;), No3 = (sin(A) = 7)) No4 = (sec(A) _ _j
X
1= (r=cos(6) 2=(y=—-6sin(0)) 3=(y=sin(40))
1 0
Nos=| #=(=72c0s(36)) '5:(y255in(5 O)J .6=(y=—6 cOS(E)JFJ
7—(—5'(75—(9}} 8—(—1 316 2j MA
7= y==5sin| — S=ly= 4005( n0) p—
Nob— y——zcos 3 )" y——2sm ; y=—cos(x)+ o
Tl el (ﬁj 4 2 cos(2 MA M4
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TrigonometryExercise for No.11002

Nol = (tan(A) = 3], No2 = (csc(A) = %), No3 = (sin(A) = %J, No4 = (cot(A) = %)

d=(y=cos(0)) 2=(y=-5sin(0)) 3=(y=cos(40)) ]
0 1

NoS — 4=(y=-2sin(40)) .5=(y:6cos(;jj .6=(y:—gcos(59)+4)
7—(—1 (ﬂD §=(y=-2sin(610O)+4 MA
7= ——2cos 1 S=(y=-2sin(6mw0)+4) TH
g y——2cos( nx) y=-2sin 3 + y—2s1n( X) TH
. LS MA M4
y=cos(x)— y—2cos( TX)+ TH TH
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TrigonometryExercise for No.11188

) 5 9 4 X
Nol = (sm(A) = ;j, No2 = (csc(A) = gj, No3 = (tan(A) = ;J, No4 = (cot(A) = 7]

A =(y=cos(0))
4=(y=3cos(20))

2=(y=-6s5in(0))

0
JS=|y=6cos 3

—D .6:(y:—icos(3 6)+4j

J3=(y=cos(40))

No5 =
7 6 5710 8 ( L (n_@j 2} MA
- =(y=-6c¢cos(5m0)) .S=|y= 3cos 5 TH |
> (xj 2 sin(2 1
= - = — = + -
g y 2c:os 3 y sin(2mtx) y=cos(x) TH
0= 1 (x 1 (nx MA MA
y=—_cos| T |+2 y=—_sin|—|-3 — —
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TrigonometryExercise for No.11505

[~ 3}z s 3 v~ sy} o3
Nol =|tan(A)=7|, No2=|csc(A)=7 |, No3 =|sin(4) = No4 sec(A):Z

A =(y=sin(0))

Nob =

4=(y=2co0s(60))

2=(y=2cos(0))
.5=( :ésin(3 6)]

3=(y=sin(30))

AswLIS

(mO MA
=|y —cos(6n6) y=—6sin| — [+4 —
4 TH J
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B 5 (n j 5 3 (nxj MA
n 72
y =2 sin| 5 y =3 cos 5 TH
7
6
Yy
\
-P -Pjf2 Pi/2 3R/ Pi TR 4Pi

]
—

////’

]
w

1
N

1
(&)

1
[9)]

X [Page =

0015]

1
~l

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:0.0:0:9.0:0:9.0:0:9.0:9:9.0:9:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:¢




):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXKXXKXKXKXXKME/1-6500302-00016XX
TrigonometryExercise for No.12113

Nol = (sin(A) = gj, No2 = (cot(A) = gj, No3 = (cos(A) = %J, No4 = (sec(A) = %J

A =(y=sin(0)) 2=(y=4cos(0)) J3=(y=cos(20))
0 1
No$ = 4=(y=2cos(50)) .5:(y=—3cos(gjj .6=(y=—5sin(29)+4)
7—(—1 (R—OD §=(y=-4 6m0O)-5 MA
7= y——scos 1 S=(y=—-4cos(6m0O)—-95) TH |
. ) (ﬁ] P (1) , M
s y=-sin(x) y=2cos 3 ) y =3 cos 3 + TH
o= (nx] 5 (xj MA MA
y=2cos| y=—_sin| — —
2 2 3 TH TH
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TrigonometryExercise for No.12541

Nol = (tan(A) = é], No2 = (cot(A) = gj, No3 =(cos(A)=x), No4 = (csc(A) = i]

A =(y=cos(0)) 2=(y=3sin(0)) 3=(y=sin(60))
NoS — 4=(y=4cos(50)) .5:(y:—6sin(%D .6:(y:—icos(26)—3j
1 (=m0 MA
_.7=(y=—SCOS(4TI:9)) .8:( =73 cos( 1 J+5j TH
.
s y=3sin 5 y =—cos(x) y=-2sin 5 + TH
1 X x MA MA
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TrigonometryExercise for No.12590

Nol = (cos(A) = %], No2 = (csc(A) = %j, No3 = (tan(A) = %j, No4 = (sec(A) = %j

Noj =

1 =(y=sin(0))

4=(y=2cos(50))

2 2

2=(y=-2cos(0))

S= [y =—4 cos(

7=(y=-5cos(4m0)) .8:(y:—%cos(

1 (x
y=7_cos| _

0

2

m 0

7

)

3=(y=cos(60))
.6:(y=%cos(6 6)—3)

J y=-sin(x)+2 y=-3sin(2x)+4
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TrigonometryExercise for No.12621

) 2 3 X x
Nol = (sm(A) = 5), No2 = (cot(A) = 5], No3 = (tan(A) = gj, No4 = (sec(A) = 7]

i A =(y=sin(0)) 2=(y=-2cos(0)) J3=(y=sin(40))
Nos — 4=(y=6sin(50)) .5=(y=—§cos(49)j 6= y=—2sin(%j—3j
1 no ) MA
_.7=( =—ZCOS(TD S=(y=-3sin(4n0)+1) E
3(ﬂj4 2 cos(2 3'(%3M
s y=-3cos 3 + y—2cos( mx) y=3sin 3 + TH
: 1 |x MA MA
y=-sin(x)—2 y== cos( 2) TH TH
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TrigonometryExercise for No.

12641

X

Nol = (COS(A) = %), No2 = (sec(A) = %), No3 = (sin(A) =3 ], No4 = (csc(A) = %]

A =(y=cos(0))

Nos = 4=(y=2co0s(60))

2=(y=-65in(0))

B

J3=(y=cos(30))
.6=(y:§cos(6 9)+4j

1 (=6 MA
_.7:(y:—gsm(—4 D 8S=(y=-5cos(4m0O)+3) _TH |
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TrigonometryExercise for No.12674

3 7
Nol = (tan(A) = 5), No2 = (csc(A) = gj, No3 = (cos(A) = %), No4 = (cot(4)=x)
A =(y=cos(0)) 2=(y=-2sin(0)) J3=(y=cos(30))
0 1
Nos — 4=(y=4sin(30)) .5=(y:—6sin(5)j .6=(y=gcos(46)+lj
peanl2) ospmornnd
7= y=-4sin 5 8= y——6sm( no)+ TH |
R l-(£]3 3-(ﬂjM_A
g y—2sm( X) y—2sm 5 +3 y=3sin 3 TH
A (H] , o M4 M4
y=-2cos 3 ) y=-—cos(x)+ TH TH
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TrigonometryExercise for No.12728

2 3 ) X X
Nol = (cos(A) = 5), No2 = (cot(A) = Zj’ No3 = (sm(A) = Zj’ No4 = (sec(A) = g}

d=(y=cos(0)) 2=(y=-5sin(0)) 3=(y=cos(40))
0 1
Nos = 4=(y=-5sin(30)) .5:(y=3cos(gjj .6:(yzzsin(39)+4)
7—( L (n_@jj 8§=(y=—6sin(4wH)+5 A
7= y——4sm 5 S=(y=—6sin(4m0)+5) TH |
3 (_]  —din(e) 2 e Moy, MA
s y——2 cos 5 + y=sin(x) — y——2 sin(2 x) + TH
o= X T X MA MA
yzZCos(—] y:3cos(—j — —
2 3 TH TH
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